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Outstanding Scholarship Exemplar 2021 

Subject Scholarship Accounting Standard 93203 Total score 25 

Q Score Annotation 

1 6 

This is a technical question with two requirements. It required candidates to use 
the information contained in the question to prepare the asset and equity sections 
of the statement of financial position at 31 July 2021, prepare the accompanying 
property, plant and equipment disclosure note, and prepare the statement of 
changes in equity. Correct preparation of the statement of financial position 
extract, accompanying note and statement of changes in equity is necessary to 
provide evidence of convincing communication to users of the financial 
statements. 

1. The candidate’s answer, and how the workings have been set out, provides 
evidence of logical development, precision, and clarity of ideas. Furthermore, 
the candidate’s answer provides evidence of highly developed knowledge, 
skills and understanding, in that the candidate was aware that they needed to 
adjust the “unadjusted profit before income tax” in order to correctly calculate 
retained earnings at 31 July 2021. 

2. Although there are some missing items (reporting currency in the statement 
of financial position and statement of changes in equity), the candidate 
provides evidence of convincing communication of accounting information in 
the format of a statement of financial position, accompanying note, and 
statement of changes in equity. The candidate has recognised what 
additional items should be provided in the accompanying note. Appropriate 
terminology used. 

3. Evidence of sophisticated integration and abstraction or evidence of critical 
thinking, in that the candidate was able to prepare a statement of financial 
position, accompanying note, and statement of changes in equity after 
considering some of the adjustments required by the additional information 
provided. 

4. The candidate failed to correctly process and consider the information in point 
4 of the additional information, when calculating profit for the year and 
retained earnings at 31 July 2021, but has considered part of the adjustment 
in the statement of changes in equity. This provides some evidence of critical 
thinking. 

The candidate made a number of technical errors in the calculation of the retained 
earnings at 31 July 2021. However, the candidate recognised that they needed to 
fully consider the additional information provided. The candidate recognised that 
the indirect administration costs associated with the chare issue needed to be 
adjusted for in determining profit for the year and ultimately retained earnings at 
31 July 2021. Overall, the candidate has provided a good answer to a technical 
question that meets the scholarship criteria. 

2 6 

This is a concepts question that required candidates to use the definition and 
recognition criteria contained in the New Zealand Equivalent to the IASB 
Conceptual Framework for Financial Reporting 2018 (NZ Framework) to explain 
to a friend why the bank has asked for the financial statements of Tripple X 
Limited at 31 August 2021 to be redrafted. 

1. This paragraph provides some evidence of an understanding of the 
individual elements of the definition of an asset and their application in the 
New Zealand Equivalent to the IASB Conceptual Framework for Financial 
Reporting 2018 (NZ Framework). 

2. This paragraph provides some evidence of an understanding of the 
recognition criteria for an asset contained in the New Zealand Equivalent 



to the IASB Conceptual Framework for Financial Reporting 2018 (NZ 
Framework). 

3. The candidate demonstrates some perception and insight, in that they 
recognise the goodwill and capitalised research costs do not meet the 
definition of an asset at the end of the reporting period. 

There is clear evidence that the candidate understands the definition and 
recognition criteria for an asset contained in the New Zealand Equivalent to the 
IASB Conceptual Framework for Financial Reporting 2018 (NZ Framework). The 
candidate has attempted to use the three elements of the definition of an asset in 
their answer. The candidate also identified the recognition criteria. A little more 
focus to the candidate’s response, coupled with a slightly more in-depth 
discussion around the high degree of measurement uncertainty relating to the 
inflow of economic benefits associated with how the goodwill and capitalised 
research cost might not be relevant to the users of the financial statements, the 
bank (that is attributing a value that faithfully represents the value of the asset) 
would have rounded out the answer. This is a succinct answer which meets the 
scholarship criteria. 

3 8 

This was a current issues question that required candidates to review unseen 
resources before critically evaluating the role of the profession in the era of 
disruption. 

1. In this paragraph the candidate provides evidence of integration and 
synthesis of the resource material into their answer, as well as 
sophisticated analysis and extrapolation. 

2. The candidate draws on the resources to provide evidence of independent 
reflection and extrapolation to critically evaluate the role of the profession 
in the era of disruption. 

3. The candidate highlights the key issue in the introduction, that the role of 
the profession in the era of disruption has and will change, providing 
evidence of perception and insight. The candidate recognises the 
changing role of the accounting profession, particularly in an era of 
disruption. In summarising their answer, the candidate provides evidence 
of convincing communication. The conclusion touches on the importance 
of the profession striving to remain relevant. 

4. Although there is no evidence of planning, the way the answer has been 
developed provides evidence of logical development, precision, and clarity 
of ideas. 

Given that this current issue was not signposted in the assessment specifications, 
there is no opportunity for candidates to demonstrate or provide evidence of 
independent research. In addition to evidence of planning, the candidate has 
demonstrated some elements of critical thinking when critically evaluating the role 
of the profession in the era of disruption. The set-out of the answer provides 
evidence of logical development, precision, and clarity of ideas. Although other 
candidates may have presented more complete answers, in framing their answer, 
this candidate provided a sufficiently sophisticated analysis to reach the level of 
outstanding scholarship. Although perhaps not as succinct as it might have been, 
the answer demonstrates convincing communication. 

4 5 

Question four was a management decision question. The question required 
candidates to draw on the information contained in the question to calculate the 
pre-determined overhead rate per dollar, using professional salaries as the cost 
driver. Candidates then needed to apply critical thinking to explain to a new 
inductee why all staff should maintain accurate time sheets, and how invoicing a 
job at less than the required profit of 50 per cent on cost could be justified. 

1. The candidate demonstrated the technical skills in calculating the pre-
determined overhead rate per dollar using professional salaries as the cost 



driver, and correctly calculating the amount to be charged for the 
investigation in order to make a profit of 50 per cent on cost. 

2. The candidate provides some limited evidence of critical thinking, in that 
they recognise that the time sheets form the basis of the amounts to be 
charged to the client. 

This was a relatively straightforward question. Although the candidate showed the 
pre-determined overhead rate per dollar as $1.20 using professional salaries as 
the cost driver, the correct calculation of the amount to be charged for the 
investigation illustrated that the candidate’s thought process is consistent with the 
solution. However, the critical thinking part of the question cannot be glossed 
over. The answer could have been improved with the correct calculation of the 
amount of profit Seasons would have made on the engagement had an amount of 
$42,260 been invoiced, and the reason for this being justified. Although the 
candidate got a bit lost here, they nevertheless were able to provide a reason for 
invoicing the engagement out at an amount lower than 50 per cent on cost. The 
solution is perhaps not as succinct as it could have been, but in framing their 
answer, the analysis provided by the candidate is sufficiently sophisticated to 
reach the level of scholarship. 
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